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0.1 113. Hausaufgabe

0.1.1 Analysis-Buch Seite 256, Aufgabe 15

a)
∫

sin2 x dx =
∫

sin x (− cos x)′ dx = − sin x cos x +
∫

cos2 x︸ ︷︷ ︸
1−sin2 x

dx = −

sin x cos x + x−
∫

sin2 dx;

⇔
∫

sin2 x dx = 1
2
(x− sin x cos x) ;

π∫
0

sin2 x dx = 1
2
[x− sin x cos x]π0 = π

2
;

b)
e∫
1

x ln x dx =
e∫
1

(
1
2
x2

)′·ln x dx =
[

1
2
x2 · ln x−

∫
1
x
· 1

2
x2 dx

]e

1
=

[
1
2
x2 · ln x− 1

4
x2

]e

1
=

e2

4
+ 1

4
;

c)
e2∫
1

√
x ln x dx =

e2∫
1

(
2
3
x3/2

)′ · ln x dx =
[

2
3
x3/2 · ln x−

∫
1
x
· 2

3
x3/2 dx

]e2

1
=

2
3

[
x3/2 · ln x− 2

3
x3/2

]e2

1
= 8

9
e3 + 4

9
;

d)
e∫

√
e

ln2 xdx =
e∫

√
e

x′·ln2 xdx =
[
x · ln2 x−

∫
x · 2 ln x · 1

x dx
]e
√

e
=

[
x · ln2 x− 2

∫
x lnxdx

]e
√

e
=[

x · ln2 x− 2 (x · lnx− x)
]e
√

e
=

[
x ·

(
ln2 x− 2 ln x + 2

)]e
√

e
= e− 5

4

√
e;
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